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iMesimum Morks: £5)
M8 (1) Answer any FIVE guestions s eqch of PAET-A & PART B and oy tweo
divizions of euch question in PART-C.
{2) Foch gquestion corvios Sltveal marks jn BART—A, Hihree] marks in PART-8
ard S{fivel] marks for eaol givision in BAR -CJ
PART - A

1. Show that the circles «2 4+ v? — 4y + Byt t=0 and ¥% 4 p® +2pr=
4y + 4 = 0 cut orthogonally,

2. Show that the eguaticn 3% — 2oy + 3% — 18y — 12y + 22 =il renresents
& parahola,

3. Find the wolue of 'p' such that the wvectors 247 -5k and
PU+ 3 - 2k are perpendiculor,

b W@ =20 37, b =T+)+k, ¢ =37-k, find [0 5 T

= = S i i g
5. Evaluate: [ |5x? == ¥=-—3] dx.
L e /
i = x
T TEC
£, Evaluoie: | ]

7. EBEvalucte: [lagrx dx.

8. Eyoluate: Il'l:;'“"" sect ¥ odr

PART - B

9. Show that 2x 4 J¥+9%=0 is g digmeter of tha circle
X2+ —pr 10y -1 =3,

10, IF the position vectors of the Foints A and 8 are ¢ - K and
30+ 27 + 3K, fird |AZ]. Also find the direction ratio of 4B,

11, Find "w' if the vectors 20-F +d, T4my -3k ond 34— 47" + 5k ore
coplanar,

12. Evaluate: [ sindx dx

- ]
13, EBvaluate: [ -2
1—sim 3
- Ty
14, Evoluaie; [ ——
T -9

[Turm over...,,
1B5M G-



15.

16,

17.

18.

i

20.

21.

-
Evaluate: [ x*cos3x dx |
If d, =47 +27 +3k and d;=7-j+k are diogorols of a
parallelogrum, find Its Grea.
PART = C
[a} Find the equation of the circle passing through the paint (=710
and having its centre ot {4, -~ 3.

ib} Show that the «crcles »P+3*—dx+Ay+8=0 and
x? + 3% = 10c — 8y + 14 = 0 touch each other.

le] Show that the equation 2% —Fay + 32 +5x -0y +2=10
represents a pair of straight lires.

(@} Prove that the points 2074 37 + Ak, 3T+ 4T+ 2k, 4T+ 27 +3k
form an equilateral triangle.

(b} Find the projection of the wvector 8T 47 -3k ©n the vecior
2T - 37 + 2k, Also find the.angle between them.

€} A particle acted on by the forces 47 + 3 +k and 2T+ 77 - 2k
is displaced from the paint {1.1.1) to (2,-25). Find the total
wirk done.

la] The position wvectars of the verties of a triangle are
57427 + 4k, T4+ 37+ 2k and -T-F +k. Find the area of the
triangle.

(b} Find the mament of the force 3T +44° + 5k acting through a
point T — 2F + 3k ahaut the point 47 - 37 + k.

€] Wwa=t+ly -k b=-T+k, T=IT+j and

d =30 —4) -7k find {a' = b) (7% I}J
(o} Ewveluate: (i | I::x,."x | ,‘;} dx il [ eosxcos 12x olx
b} Evaluate: (i} [=S2% i (227 g
¥ o L [3+5 st x]® e et
[t '
(c) Evalucte: [——
o) Evaluate: ) [xPlegx dx i) [x e dd

(o) Eweluate: (i) [x*e™™dx (0] 2 indx dx

o E it

) Prowe that I

B L
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8 wdlodhs: |, gt x dx
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